Great Plains: VQ

1. What percent of Earth is covered in grasslands?  

covers 25% of all land on earth
2. What supports the entire food chain and the greatest concentrations of wildlife on the planet?

grass
3. How are grasslands created?

grasslands exist where there is a little rain but not enough to support a forest
4. How far does the Central Steppe wrap around our Earth?

– Central Asian Steppe = 1/3 of the way around our planet
5. The Mongolian Gazelles are usually spread throughout the plains, but once a year they migrate to one location to birth their young.  Explain why communal calving is a helpful adaptation for organisms located in this biome.

Mongolia – great migration yearly of Mongolian gazelle – most of the time they are scattered but once each year they gather to have their young – nearly all will give birth within ten days of each other – communal calving = safety in numbers – nothing to hide behind other than grass
6. Grass is said to be almost indestructible.  What evolutionary advantages do grasses have that allow them to survive a fire, trampling, grazing, frost, and drought?

because it grows from a protected part at the base of its stems = almost indestructible – can repair and reproduce rapidly –
7. The most numerous bird flocks on earth are supported by the African Savannah.  What other herds are supported here?  

red billed quelea – swarm the savannahs of Africa = most numerous birds on earth – some flocks take up to five hours to pass overhead – birds devour the seeds and antelope crop the leaves and stems – East African savannahs sustain nearly 2 million wildebeasts – they trip the grass to the roots – plant recovers within days to sustain the biggest herds on earth –
8. Animals migrate for thousands of miles to reach the Arctic during Spring and Summer.  Why?

during the summer the arctic hosts grass – receding ice reveals the arctic tundra the size of Australia – snow geese winter in the gulf of mexico and fly( 5 million of them) to the arctic in spring – migration = 3000 miles long and they fly for three months – traditional breeding grounds here in arctic – they pair for life and stake out a nesting patch – tundra grass grows vigorously and there are fewer predators here – geese can nest on the ground more safely – eggs incubate for three weeks –
9. What is the primary limiting factor that exists in the Arctic tundra for the nesting birds?  How are the birds affected by this?

– limited space = intraspecies competition –
10. Arctic Foxes live in the tundra year round.  What adaptations allow the fox to survive in the winter without the birds?

fox stashes her eggs underground to save for the winter when the geese are gone
11. Caribou are quite difficult for the arctic wolf to find, even though they travel in huge packs.  Why is this?

– arctic wolves – their prey is seasonal and hard to find – they search for days during summer – they find the caribou who travel 30 miles per day = 2000 miles over the summer – wolves will starve without the caribou – hard to find the traveling prey – biting flies and the need for new pasture keeps them moving – wolf separate the weak and young from the panicked herd
12. What happened 100 years ago to the bison populations supported by the North American Plains?

Prairies of North America – once supported the greatest herds of bison ever seen – once 60 million bison—one hundred y ago they were reduced to 1000 – recovering now b/c of protections
13. The Tibetan Plateau is home to the highest grassland on the planet.  Explain why this area is grassland.

b/c of the Himalayas – rain shadow effect leaves Tibet high and dry
14. Why do the Tibetan pikas tolerate the snow finches and ground peckers when they steal the pikas’ burrows?

Pika a relative of the rabbit – most numerous grazers – they burrow – ground peckers and snow finches take their burrows but they are tolerable b/c they provide and early warning system – Tibetan fox hunts pikas
15. The Indian Plains are lush and green and support the tallest grasses in the world.  What phenomenon creates this lush grassland?

moist air condenses before it can reach the plains on the other side of the himalayas – and clouds drop all their water on the southern side where India is– these rains keep india green – grass is abundant in India – Elephant grass is the tallest in the world –
16. Most grasslands suffer a dry season.  Describe the challenges faced by the animals that remain behind.

Wet season followed by dry in most plains – in Africa savannahs for ex.—plains become dust bowls – elephants must drink almost daily – driven by thirst they march 100’s of miles – relying on the matriarchs memory – lead to water holes that saved them previously – other animals also drink from these found by the elephants – limited water – tension – elephants dominate the water hole during the day – at night more elephants arrive – cooler time to travel – lions watch – elephants have poor night vision – lions have good eyes – the lions are hungry – elephants try to run them off – lions don’t usually hunt elephants but they are desperate – calves are an easier target – adults encircle their young – elephants are weakened from travels – one elephant is alone but it is too big – lions attack en masse = 30 of them – elephant = food for all for at least one week – elephants have no choice but to endure the dangers at the water holes –
17. Describe the human qualities and characteristics of the baboons shown hunting in the water?

